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Which of the following would be the correct choice to fill in the blank in the code to make this loop execute 5 times?
for (int count = 1; ______________; count++) {


//some code for loop

}
a) count < 5

b) count <= 5

c) count < 6

d) count <= 6

What is the correct output of the following loop? 

for(int count = 0; count < 5; count++) {

System.out.println(“Printing something to the screen”);

}

a)

Printing something to the screen

Printing something to the screen

Printing something to the screen

Printing something to the screen

Printing something to the screen

b)

Printing something to the screen

Printing something to the screen

Printing something to the screen

Printing something to the screen

c)

Printing something to the screen

Printing something to the screen

Printing something to the screen

Printing something to the screen

Printing something to the screen

Printing something to the screen

d)

Printing something to the screen

5

What is the correct output of the following loop? 

int sum = 0;

for(int count = 2; count < 10; count = count + 2) {


sum = sum + count;

}

System.out.println(“The sum is: ” + sum);

a) The sum is: 10

b) The sum is: 12

c) The sum is: 2

d) The sum is: 22
What is the correct output of the following nested loop? 

for(int y = 0; y < 2; y++) {

for(int x = 0; x < 3; x++) {

System.out.println(“Coordinate is (” + x + “, ” + y + “)”);

}

}

a)

Coordinate is (0,1)

Coordinate is (1,1)

Coordinate is (2,1)

b)

Coordinate is (0,0)
Coordinate is (1,0)

Coordinate is (2,0)

Coordinate is (3,0)

Coordinate is (0,1)

Coordinate is (1,1)

Coordinate is (2,1)

Coordinate is (3,1)

Coordinate is (0,2)

Coordinate is (1,2)

Coordinate is (2,2)

Coordinate is (3,2)

c)

Coordinate is (0,0)

Coordinate is (2,0)

d)
Coordinate is (0,0)

Coordinate is (1,0)

Coordinate is (2,0)

Coordinate is (0,1)

Coordinate is (1,1)

Coordinate is (2,1)

The following questions will allow you to fill in the blanks of the body of this method so that it performs the function indicated by its name:

public void mirrorLeftRight(Picture picture) {


Pixel leftPixel;

Pixel rightPixel;
for(int columnCounter = 0; _________(5)_________; columnCounter++) {

for(int rowCounter = 0; _______(5)__________; rowCounter++) {
leftPixel = ________________(6)__________;
rightPixel = _________(7)________________;
_________________(8)_____________________;

}

}

}

What code fills in the loop correctly so that you can loop through the entirety of the picture passed in as a parameter to this method (blanks labeled 5)?
a)

columnCounter < picture
rowCounter < picture
b)

columnCounter < picture.getWidth() + 1
rowCounter < picture.getHeight() + 1
c)

columnCounter < picture.getWidth() - 1
rowCounter < picture.getHeight() - 1
d)

columnCounter < picture.getWidth()
rowCounter < picture.getHeight()

Which of the following would be the correct choice so that the variable leftPixel is assigned the value of the “next” pixel on the left side of the picture according to the functionality of the loop (blank labeled 6)?
a) picture.getPixel(columnCounter, rowCounter)
b) picture.getPixel(rowCounter - 1, columnCounter)

c) picture.getPixel(rowCounter, columnCounter)

d) picture.getPixel(rowCounter, columnCounter - 1)

Which of the following would be the correct choice so that the variable rightPixel is assigned the value of the equivalently mirrored right pixel (blank labeled 7)?
a) picture.getPixel(picture.getWidth() – rowCounter – 1, columnCounter)
b) picture.getPixel(picture.getHeight() – rowCounter – 1, columnCounter)
c) picture.getPixel(columnCounter, picture.getWidth() – rowCounter – 1)
d) picture.getPixel(rowCounter, picture.getHeight() = columnCounter - 1)
Which of the following would complete the loop body so that the picture would be mirrored left to right, meaning that the left half of the picture is mirrored to the right half (blank labeled 8)?
a) rightPixel.setColor(new java.awt.Color())

b) rightPixel.setColor(leftPixel.getColor())
c) leftPixel.setColor(rightPixel.getColor())
d) leftPixel.setColor(leftPixel.getColor())
This method does not work correctly to crop the picture, circle all the statements given below that have useful and correct information regarding the errors in this code.

public Picture crop (Picture picture, int startRow, int startColumn, int endRow,int endColumn){
Picture newPicture = new Picture();

int width = picture.getWidth() – 1;

int height = picture.getHeight() – 1;

Pixel oldPixel;

Pixel newPixel;
for(int columnCounter = 0; columnCounter < height; columnCounter++) {

for(int rowCounter = 0; rowCounter < width; rowCounter++) {
oldPixel = picture.getPixel(rowCounter, columnCounter);

newPixel = picture.getPixel(rowCounter, columnCounter);

newPixel.setColor(oldPixel.getColor());
}

}

return picture;
}

a) You need to insert a width and a height for the newPicture object.

b) You need to create two picture objects, one for the picture you are passing in and another for the cropped version.
c) The value of width is computed incorrectly.

d) The value of height is computer incorrectly.

e) oldPixel should really be called pixel1.

f) newPixel should really be called pixel2.

g) You only need one loop, not two as shown here.

h) You need the test for the first loop to be columnCounter <= height.

i) You need to start rowCounter with startRow as passed in to the parameters.

j) For oldPixel, you should get the pixel at (columnCounter, rowCounter).

k) You need to get the color value of newPixel from the newPicture object.

l) You need to return newPicture, not picture.

Which of the following lines of code would fill in a loop body to correctly adjust the amount of green in a picture to be 10 less than it was originally?

a) pixel.setGreen(pixel.getGreen() – 10);
b) pixel.setGreen(pixel.getGreen() * 10);

c) pixel.setGreen(pixel.getGreen() * .10);

d) pixel.setGreen(pixel.getGreen() – .10);
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(1) What is the text that is printed to the screen when this code is run?
int sum = 4 + 6;
if (sum < 10 && sum > 0) {


System.out.println(“Within range.”);

}

else {


System.out.println(“Out of range.”);

}
a) Within range.

b) Out of range.

c) Within range.

    Out of range.

d) Nothing is printed to the screen.

(2) What is the text that is printed to the screen when this code is run?
int sum = 4 + 6

if (sum <= 10 && sum > 0) {


System.out.println(“Within range.”);

}

else {


System.out.println(“Out of range.”);

}
a) Within range.

b) Out of range.

c) Within range.

    Out of range.

d) Nothing is printed to the screen.

(3) What would be the correct expression be make sure that the value of x is less than 3 or greater than 10?

a) x < 3 && x > 10
b) x <=3 && x >=10

c) x <=3 || x >=10

d) x < 3 || x > 10

(4) What would the correct expression be to make sure that the value of answer is not equal to 0?

a) x > 0

b) x != 0

c) x < 0

d) x == 0

(5) What is the correct output of the following loop? 

int sum = 0;

for(int count = 2; count < 10; count = count + 2) {


sum = sum + count;

if (sum > 2) {



sum = 2;


}
}

System.out.println(“The sum is: ” + sum);
a) The sum is: 10

b) The sum is: 12

c) The sum is: 2

d) The sum is: 22

(6) What is the correct output of the following nested loop? 

for(int y = 0; y < 2; y++) {

for(int x = 0; x < 3; x++) {


if (x < 2 && y > 0) {
System.out.println(“Coordinate is (” + x + “, ” + y + “)”);




}
}

}

a)

Coordinate is (0,1)

Coordinate is (1,1)

Coordinate is (2,1)

b)

Coordinate is (0,0)

Coordinate is (1,0)

Coordinate is (2,0)

Coordinate is (3,0)

Coordinate is (0,1)

Coordinate is (1,1)

Coordinate is (2,1)

Coordinate is (3,1)

Coordinate is (0,2)

Coordinate is (1,2)

Coordinate is (2,2)

Coordinate is (3,2)

c)

Coordinate is (0,0)

Coordinate is (2,0)

d)

Coordinate is (0,0)

Coordinate is (1,0)

Coordinate is (2,0)

Coordinate is (0,1)

Coordinate is (1,1)

Coordinate is (2,1)

The following questions will allow you to fill in the blanks of the body of this method so that it performs the function indicated by its name:

public Picture chromakeyBlue(Picture picture, Picture background) {
Picture newPicture = new Picture(picture.getWidth(), picture.getHeight());


Pixel originalPixel;

Pixel backgroundPixel;

Pixel newPixel;

for(int columnCounter = 0; columnCounter < picture.getWidth(); columnCounter++) {

for(int rowCounter = 0; rowCounter< picture.getHeight(); rowCounter++) {

originalPixel = ____________(7)_________________;

backgroundPixel = __________(8)_________________;

newPixel = _________________(9)_________________;

if(originalPixel.getRed() + originalPixel.getGreen() < originalPixel.getBlue()) {


newPicture.setColor(______(10)__________________);

}

else {


newPicture.setColor(______(11)__________________);
}

}

}

return ____(12)________;

}

(7) Pick the code that correctly fills in space 7.

a) picture.getPixel(columnCounter, rowCounter);

b) background.getPixel(columnCounter, rowCounter;

c) newPicture.getPixel(columnCounter, rowCounter);

d) picture.getColor();

(8) Pick the code that correctly fills in space 8.

a) picture.getPixel(columnCounter, rowCounter);

b) background.getPixel(columnCounter, rowCounter;

c) newPicture.getPixel(columnCounter, rowCounter);

d) picture.getHeight();

(9) Pick the code that correctly fills in space 9.

a) picture.getPixel(columnCounter, rowCounter);

b) background.getPixel(columnCounter, rowCounter;

c) newPicture.getPixel(columnCounter, rowCounter);

d) picture.getWidth();

(10) Pick the code that correctly fills in space 10.

a) backgroundPixel.getColor()

b) originalPixel.getColor()

c) picture.getColor()

d) newPicture.getColor()

(11) Pick the code that correctly fills in space 11.

a) backgroundPixel.getColor()

b) originalPixel.getColor()

c) picture.getColor()

d) newPicture.getColor()

(12) Pick the code that correctly fills in space 12.

a) newPixel

b) picture

c) originalPixel

d) newPicture

(13) State in your own words what the following method does.
public Picture question13(Picture picture) {

Picture newPicture = new Picture(picture.getWidth(), picture.getHeight());


Pixel originalPixel;

Pixel newPixel;

for(int columnCounter = 0; columnCounter < picture.getWidth(); columnCounter++) {

for(int rowCounter = 0; rowCounter< picture.getHeight(); rowCounter++) {

originalPixel = picture.getPixel(columnCounter, rowCounter);

newPixel = newPicture.getPixel(columnCounter, rowCounter);

if(originalPixel.getColor() == java.awt.Color.RED) {

newPixel.setColor(java.awt.Color.BLACK);

}

else {


newPicture.setColor(originalPixel.getColor);

}

}

}

return newPicture;

}
(14) State in your own words what the following method does.

public Picture question14(Picture picture) {

Picture newPicture = new Picture(picture.getWidth(), picture.getHeight());


Pixel originalPixel;

Pixel newPixel;

for(int columnCounter = 0; columnCounter < picture.getWidth(); columnCounter++) {

for(int rowCounter = 0; rowCounter< picture.getHeight(); rowCounter++) {

originalPixel = picture.getPixel(columnCounter, rowCounter);

newPixel = newPicture.getPixel(columnCounter, rowCounter);

if(originalPixel.getColor() == java.awt.Color.BLACK) {

newPixel.setColor(java.awt.Color.WHITE);

}

else if(originalPixel.getColor() == java.awt.Color.RED) {


newPixel.setColor(java.awt.Color.BLUE);




}

else {


newPicture.setColor(originalPixel.getColor);

}

}

}

return newPicture;

}
